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7. In the garage shown in the picture, vehicles can only move forward or
backward but cannot turn. What is the smallest number of vehicles that have
to move for the black car to be able to exit the garage?
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8. Jalila has one long string of spaghetti she needs to make smaller. Every time
she breaks one piece of spaghetti, it becomes three pieces as shown in the
picture. Which of the following numbers of pieces could she NOT get?

13 17 20 23 25
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Badr rearranges the 7 pieces shown to get the smallest possible 12 digit
number. What are the last 3 digits of this number?
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10. Which of the following fractions of a whole turn should the Ferris wheel
turn to bring a white pod to the top?
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11. Five big elephants and four small ones are walking along a path, as shown.
When they reach the junction, each elephant turns either to the left or to
the right. Which of the following €annot be the situation after they all

pass the junction?




e (il Jadill (né dangall aclgill doadiwo pgwill ciagg 1T a0l i iy . IT
Saalgill (nd ljb aule Joniw (oadl 320l Lo jluyl

/—( Rule h

REN
S D

() T l

12. Yara starts with 12 and follows the arrows using the rules shown in the

picture on the left. What number will she finish with?







